I
|2

LR 245 E BETHERIIANRTYMR—ILRE
BARXE BFOMH HBREEA)

LR 24568 [RETHREBRFANRTYFR—ILKE
BERXE BFOR HFEREE188)

(%) V-7 v Y=o
B[R
A2 B2
o 14 — 4 B 4 — 26 31 45
= 51 14 — 8 26 R 1= 20 2 —9 72 | & (%) V=T C4 (LY Y—F 14
) O12—9 @ = 2| @ 0-30 | & 1 — 14
11 — 5 14 — 2 = > — 11 EX%
| 5 5 — 8
AR 10 — 12 IR
o - (&) 7 (Ly) 7
5 — 23 o 16 — 6 |—4 L) —s
] 31 14 — 19 9 ¥ EX | 67 14 — 6 34 pf 1 260 3f 1 26 3f
&= ®@ 6 — 29O = = O2 -1 @ =
6 — 20 15 — 11
F #E H B Mt 1=
m B = B B &
AG . B6
14 — 8 21 — 4
EJ:— 45310—12.40 = Bfit 6(3)113—2 3.1 -
2 — 11 19 — 11
oe 20 — 9 T = g — 14 = (&) J—7 2%k W) =7 3% (&) J—7 3% W) J—7 2%k
Cc2 D2
16 — 1 8§ — 26
| 60 26 — 5 18 |4— 52 9 — 20 56 |
. 8§ — 6 = E 10 — 4 by
B o 10 - 6 e |I® Z @ 5 — 6 O |B
9 — 16
9 — 12
28 7 — 15 -
E;T 11 — 24 JB%
D4
36 67
L KM E
NE L iR 7E B
BF1HB &
‘ BFRRIERL
(H))—7 IEGL (DLt -3
16 & 1467 &R FIGI: B R hER <HASHIE
2{u Z2HT 21 B Pohi: F m PR <KHXEHIBE
3 RE 3t - R BII: LEXKEWHRER PER <FRXEHIE
B3h: F BT e




|

LR 245 E [RET™H

SRR E

TR24FE LEMPRFRHANRTYMR—ILRE
AEAS XFOH HREIHE)
() b—FAUk () =T A2k
IR
A 38 36
8 — 4 B5
R| 33 6—9 17 |F 5 — 14
£ O1-2 @ |f BE 13 — 9  ME
82 0-—8
| 16— 3
A3 40 41 ' | 44 26
o 1 =12 o B1 B3
F| 28 8 — 2162 | 9 — 11 12 — 5
m| @ 8 — 11O \Hf 12 — 10 5 — 7
11— 18 7 — 14 7 — 10
12 — 6 10 — 4
AS (IS BRIR | | Mim A
10 — 12
R| 25 6 — 11 62 |2 12— 7
£ O 5—-170 i 18 — 2
4 — 22 Zf&R 16 — 3 #MB
15 — 10
B7
61 22
—fx
XF1HE &R
(V=T IREL (R)b—F Ak IR
1457 ZZHT 161 BRJR
21 WE 2(s MR
6L F 3 =R
44 1870

2T
42 38
(3) V=14 . C3 o (R) b—FAVMLL
313 3 — 8 5
== -EX
16— 7
T 5 — 12 IR
3) V=45 (Z) b—F Ak
12 26 3 12 22 3
2 ®H F B Mt =
B = m R B &
(2) )—=U2{ (%) F—FAUR34E (3) J—5 311 (Z) F—FATF21
Ci D1
6 — 9 8 —

32 9 — 10 40 |4- | 40 0 9 — 7 41 gt
E 8§ — 13 = LN 5 — 7 b
= @ 9—801% @ 12 — 8 o |®

9 — 11
6 — 9
= 9 — 16 B
7 ° o B
D3
30 51
EPE o
B {31 7R 7E B,
TFRRIESRL
T4 = B R < RKEHBD
Fohr: B [R hER <HhRXEHIE
Bhi: LEXEHWREPER <HTREHB
B3 {= G PR < AESHIB>

TAINRT YR R—ILKRE
BARXE TFOE H£R(EEER)




